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(A) (EH)

g H X 3 634 7,419 16,889,934

% 1TH 14 155 409,367

2TH 9 106 201,834

3TH 33 189 191,508

ATH 4 95 175,008

£ B 1TH 19 473 1,669,277
2TH 6 181 279.373

3TH 5 40 48,460

ATH 27 300 443,676

5TH 6 41 33,727

6TH 5 58 61,216

i H B 1TH 50 898 2.972.168
2TH 27 111 135,464

3TH 17 208 805,385

5 e 3 I 1TH 26 360 581,064
2TH 18 178 141,964

3TH 22 314 952,325

4TH 31 385 1,083,869

5TH 7 223 794,619

5 3 b 1TH 16 140 120,665
2TH 2 51 X

3TH 19 199 344,125

ATH 7 42 39,557

5TH 1 27 X

$ # ®M 1TH 10 83 103,220
2TH 28 320 442 951

3TH 6 91 315,786

4TH 4 11 5,154

5 O 1TH 26 204 303,337
2TH 4 9 4,585

3TH — — —

4TH 3 92 127.859

5TH 7 21 13,020

6T H — — —

= i 1TH 6 21 22525
2TH 2 20 X

== x B 1TBH 15 93 176,148
2TH 2 178 X

* H K & 1TH 5 9 3,362
2TH 5 28 54,312

_1_

o % xE | HEemBREE
;T & | PR why E:
(A) (EH)
* H X B 3TH 3 11 2,071
4T H 1 1 X
15 B 1TH — — —
2TH 6 21 26,203
3TH 15 87 209,236
P 1TH — — —
2TH 3 24 42,310
3TH 11 171 187,759
ATH 1 2 X
5TH 1 2 X
= H 1TH 13 62 49,304
2TH 2 31 X
3TH 9 51 47,800
ATH 6 47 43,015
i I2 1TH 13 107 265,822
2TH 19 324 335,601
3TH 12 130,775
4TH 13 210 310,145
5TH 10 232 547,138
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